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1. Overall Description:

RAN4 would like to thank RAN2 for the LS on SCell activation/deactivation in document R4-102723 (R2-104181).

In LS R2-104181, RAN2 informs that to address the issue of glitches due to RF bandwidth retuning, RAN2 had discussions on the following possible way forwards:

Solution A: Prohibit glitches (i.e. prohibit RF bandwidth retuning)
Solution B: Allow intra-band glitches (i.e. allow RF bandwidth retuning)
In order to decide on either Solution A or Solution B described above, RAN2 would like to request RAN4 input on the following aspects:

Question 1

How often does RAN4 expect UEs to perform RRM measurements on deactivated SCells?

Question 2

If glitches are allowed, what is the expected size of the glitch (e.g. 1ms)?

Question 3

Can (and how significant) UE battery consumption savings be obtained from allowing a UE to retune the RF bandwidth of a RF component according to the activation/deactivation status of the configured SCells? The interest is to know the gains purely from RF bandwidth retuning (i.e. separately from other aspects such as baseband processing).
Regarding question 1, how often a UE measures a deactivated SCell depends on the RRM requirement which was being discussed within RAN4 and non consensus has been reached. However if using the requirement for the inter frequency measurements with DRX of Rel-8/9, when DRX cycle length is less or equal 0.08 s, a UE could measure a particular SCell every 40 ms whereas when 0.08s < DRX-cycle ≤ 2.56s, in general a UE will measure a particular SCell per every DRX cycle.   
Regarding question 2, the length of the glitch could be 1 ms.
Regarding question 3, when we consider the scenario where a UE has only one RF chain, the power consumption of the RF part can be classified into two groups.  One group’s power consumption is independent to the bandwidth such as mixer and synthesizer etc. The power consumption of the other group will vary with the bandwidth such as ADC and filters following ADC. For the bandwidth scenario in Rel-10, most of time the bandwidth is quite large (typical bandwidth per CC is at 10/20 MHz level). The group whose power consumption varies with the bandwidth could dominate the total power consumption of the RF part. If we assume the ADC current is linear with the sampling frequency of a particular bandwidth, reducing the measurement bandwidth by half (assuming two CCs with identical bandwidth, one is active and the other is deactivated) will bring noticeable power consumption reduction. 
2. Actions:

To RAN2 group.

ACTION: 
RAN4 kindly requests RAN2 to take the above responses into consideration.
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